1. naloga

Resitve 2. Kolokvija iz Matematike IV

30.5.2005
v = F(z)G(t)
FG = F'G
§ = Eo-x
F'+XF = 0
F(z) = AcosAz+ Bsinlz
F'(z) = (—AsinAz+ BcosAz)A
z=0 = B=0
T=T = A=n
F.(z) = Apcosnz
J€ = [-ndt
InG = -n*t+InC
Ga(t) = Cne ™
u(z,t) = Y ane tcosnz
n=1
t=0 = Zancosn:czcos4:z;
n=1

a4=1,an=0

u(z,t) = e ®cosdr




2. naloga

x=2 66 =i
X =3 CGG py=1il=1
X =4 YCGG,Y = karkoli pa=1311 =1
X=5 YYCGG,YY # GG ps_%%%%z%
X=7 YYYYCGG pr=ll-(+lely=41

YYYY = vse razen
GGYY, CGGY ,YCGG

X=n Y...YCGG pn=3(1=(P2+ps+ - +Pn-3))
Y ...Y = vse razen
(X=2)u(X=3)U...(X=n-23)
3. naloga
premica: y=tgaz+1 , O0<a<7
nicla : tgaz+1=0
r=—ctga
3n 3
P(X <1) = P(-ctga < 1) = P(ctga > —1) = P(a < arcctg(—1)) = P(a < -—4—) =1

F(z) = P(X < z) = P(—ctga < z) = P(ctga > —z) = P(a < arcctg(—z)) = %arcctg(—x)




